
Physics 101: Lecture 9, Pg 14 

Example: Block w/ friction 
 A block is sliding on a surface with an initial speed of 5 

m/s. If the coefficent of kinetic friction between the block 
and table is 0.4, how far does the block travel before 
stopping?  
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Y direction:  SF=ma 

     N-mg = 0 

     N = mg 

Work 

     WN = 0 

     Wmg = 0 

      Wf = f Dx cos(180) 

            = -mmg Dx 

W = D K 

     -mmg Dx = ½ m (vf
2 – v0

2) 

     -mg Dx = ½  (0 – v0
2) 

      mg Dx = ½ v0
2 

           Dx = ½ v0
2 / mg 

                = 3.1 meters 
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